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BEISEE 140, 458, 576
(BLZX) Bk 140, 458, 576
AMET [7—v oRA] 140, 458, 576
rF—yUSYET THy—V Y Q) EER 140, 458, 576
[Em 424,928
1 L—2 4 V8% BB+ IL—T 1 Y 784. 00 542 424,928
m2
RBi5 10, 821, 956
2 RAAR IR SNE5 1,917.00 2,452 4,700, 484
m2
3 NEZZE AR5 3,136.00 1,952 6,121, 472
m2
F23:01 45, 475, 538
4 SEFATHAL (1) SD345 D13 57,128.00 185 10, 568, 680
kg
5 $ERN T4 (2) SD345 D16 15, 902. 00 183 2,910, 066
kg
6 #xFhMTHESI (3) SD345 D19 45, 462. 00 183 8,319, 546
kg
7 $kERHANTHAST (4) SD345 D22 65,110. 00 183 11,915,130
kg
8 $&ERINTHANT (5) SD345 D25 44, 890. 00 183 8,214,870
kg
9 REBEGMEE HT690 D57 L=2.8m 96. 00 32,300 3,100, 800
PN
10 AEKARAASL HT690 D57 L=2.8m 5,798. 00 77 446, 446
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HiB R 1,034,075
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EREIEE 140, 458, 576
MEIEE 10,276,249 + 34,744,377 45,020, 626
HBREE GDH 1,034,075 + 8,455 606 + 786, 568 10, 276, 249
HBRBE (FEL) 1,034,075
HBREE (R) 140,458,576 x 6.02% (4.52% x1.00 +1.50%) 8,455, 606
BSRENER 140, 458,576 x 0.56% 786, 568
RisEEER 150,734,825 x 23.05% (21.46% +1.59%) 34,744,317
T=Rfl 140, 458,576 + 45,020, 626 185, 479, 202
—REEES 185,479,202 x 15.76% (15.76% x 1.00) — 4,915 29, 226, 607
LR E 185, 479, 202 x 0.04% 74,191
T &l 185,479,202 + 29,226,607 + 74,191 214, 780, 000
HEREELE 214,780,000 x 10.00% 21,478, 000
HATRE 214,780,000 + 21,478,000 236, 258, 000
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& Hi YEZHeH : 1,000.00k g 183. 00 183, 760
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L REHMEE  HT690 D57 L=2.8m 1K%Y
2 b g - BIRTE By = B O %8 # " =
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ZN 1.00 32, 300. 00 32,300
& Hi 1E%HERN - 1. 00K 32, 300. 00 32,300




Rifiz -/ \v7r—o

STMEEEREB@UZRREBRR T —V o 8HETEEIR)

&5 :10
&% BEKFRMASL HT690 D57 L=2.8m 1000k g Y
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k g 1,000. 00 61.00 61,000
yR—59 L—r GhEERER) 80t &
B 0.20 84, 104. 00 16, 820 8H
& Hi YEZHeH : 1,000.00k g 77.00 77.820
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£ SRB AN 100m2 %Y
2 b g - BIRTE BT H = B O %8 # " =
BB AEST AR S (r— Y D BE) yL—rtkE
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yR—59 L—r GhEEEER) 80t &
B 0. 40 84, 104. 00 33, 641 8H
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a2 )— MTHR (G —Y 2 8E) Ry TE
m3 10. 00 3, 900. 00 39, 000
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B DEMEER y0—39L—80tH 1XEY
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B 1.50 52,000. 00 78, 000 8H
BREx£a
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